:]He] €3 5 HANDIG VERMENIGVULDIGEN MET 15EN 9, 99 ... ¢

TOX 28 = oo 54X 100 =, 19X 100 = oo
TOOX 46 = ..o TOOX 99 = ..o 842X 10 = oo
29X 100 = .o 164X 10 = oo 10X 220 = oo
94 X 10 =, 80X 100 =i, 100X 100 = oo
u Dit lukt ook. Neem de helft.

De helftvan 460is  ............. . De helftvan6200is ... .
De helftvan 1800 is .............. . De helftvan 4 100 is ............... .
De helftvan 700 is  .............. . De helftvan5000is ... .

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

9 %450 =(10x450) = (1 x450) =....cccoorruerc. ST = e

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

15X%620=(10%620) + (5 X 620) =....ccccooeeverererre F o = s

T5 X A2 = iR

T5 X BT 2 = e eeeeias e eeeeseas e

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo



